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ECO 610
Fall 2017
problem Set #4

1. {6 pts.) Labor and capital are used to produce widgets according to the production table below:

_ Liaber Twp ot
=1 2 3 4 5
k=1 Q=20 40 55 65 75
Copitel 3 40 60 75 o 5
Troeot 3 55 75 90 100 105
4 65 85 100 110 115
5 75 90 105 115 120

Per unit-prices for labor and capltal are w =$40 and v = $40, For this particular production
function, when both input prices are the same, the long-run jeast-cost combination of inputs
oceurs where K = L. Using this information, graph five points on this firm’s long-run average cost
curve in the attached diagram. Be sure to point out if there are economles or diseconomies of
scale, and indicate the minimum efficient scale of production.
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2. |4 pts.) Suppose you have chosen K =3 and are stuck with that plant size in making short-run
production decisions. If you want to produce Q =55, how would you do it and what would your
par-unit costs be? 1f you wanted to produce Q =105, how would you do It and what would your
per-unit costs be? Graph these two polnts on the firm's short-run average total cost curve for plant
size K = 3. Hint: there is a third point on this SRATC curve that you have already calculated from
above. Make sure your SRATC curve reflects this.
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S RAC: K is  fixed at K = 3

*
=3 & = 55 T e = (62 sp A T = 2.9/¢/
spATC = LRAC
Tt iz

o sRATC = 3.6%

i

{

(pot @

L
& i
@ L=
L

=

3 k=3 G - 90 e & Z24e
j‘\r‘a.‘o}w.\ _
-5 K

) a - Je5 T o ER2Rs




LRAc

4
O

IORS

) P
Eu oo & R fe 1%
Y, | - SRAc I,
NN 1y
A W11/
| EYARW.IE
i \"- % @ ﬁi
£32 .00 N %%‘ 7
i ) [
53,:;0 elcdnlo mie o ) {:é\'SGLc..cr\qml
o€ ol f sled || e
soa e I .
&L- Q‘ + - ": ‘// o v 41 & {
P £ « ’
:tl-()ﬂ #‘7— Eihq_ b g s:mq
W : 7
J
~

2o 40 5% w0 go 40 ;o 4% {0




